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REFMEY 77— FOKFER (BE) [FM25E]

15 B | FHEHiE
=YCi 4.28
B2 4. 21
B3 4.21
B4 4.22
BR5 4.16
B 6 4.12
B 7 4.15
B8 4.02
=il 4.10
B0 4.04

BEIET o — FOEHER (KR —BHE) [$702FE]

B e

ERs

B3

B4

EfRk6

B B | FFHEE
B 4.25
B2 | 4.2
B3 | 4.26
B4 | 4.16
BHf5 | 4.08
Bf6 | 4.06
BRM7 | 4.09
B8 | 3.93
Bfo | 4.03
BRI10 | 3.93
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(¥ /EMEE (BM) (fM2F£F]

B B | FFHEE
B 4.26
B2 | 4.20
B3 | 4.30
B4 | 4.25
BfE5 | 4.20
Bf6 | 4.16
BRM7 | 4.20
B8 | 4.06
Bfo | 4.10
BRI10 | 4.06
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B B | FFHEE
B 4.26
B2 | 411
B3 | 4.12
B4 | 415
BfE5 | 4.10
BRE6 | 4.07
BRM7 | 4.15
B8 | 4.03
Bfo | 4.09
BRI10 | 4.04
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| B | THysfiE
=i 4.15
B2 4.09
Mo ke B3 4.15
BR4 4.07
BRI 5 4.09
ks B 4 B 6 3.99
B 7 4.01
B8 3. 91
BR9 4.01
K6 BRE10 | 3.94
REFFET o r— FOKERER (1545) [FH25E])
i B | THEiE
B 4.32
= 4.27
Erio ike B3 4.35
B4 4.21
BM5 4.16
Brs B4 =Ri5 NS 4.13
BR7 4.17
BHR8 3.93
B9 4.05
BR10 3.95
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15 B | FHEHEE
B 4.30
B2 4.24
Erio ike B3 4.25
B4 4.19
BM5 4. 11
Eri8 Er 4 BR6 4.05
BR7 4.10
BHR8 4.00
B9 4.11
= HRI10 | 4.00
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1H B | T5FHE
B 4.10
B2 4.08
Erio ike B3 4. 21
B4 4. 11
Bi5 4.06
Brs B4 =Ri5 NS 3.99
B 7 4.00
B8 3.173
B9 3.81
EREO© BR10 | 3.74
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Ef6

B B TEbE
B | 4.37
B2 | 4.29
B3 | 434
B4 | 426
BER5 | 4.26
e | 4.2
BER7 | 4.23
ERs | 4.07
B9 | 4.16
BER10 | 4,12
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B B TEbE
BER1 | 4.06
B2 | 3.99
B3 | 3.96
B4 | 3.88
ZERs5 | 3.85
%6 | 3.73
BER7 | 3.73
ER8 | 3.62
o | 3.7
BERI10 | 3.63
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15 B | FHEHiE
=YCi 3.96
B2 3.92
B3 4.01
B4 3.94
BR5 3.82
B 6 3.82
B 7 3.85
B8 3.72
=il 3. 73
B0 3. 66
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15 B | FHEHiE
=YCi 3.96
B2 3.92
B3 3. 94
B4 3.93
BR5 3.90
Bie6 3.83
B 7 3.87
B8 3. 73
=il 3. 71
B0 3.74
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15 B | FHEHiE
=YCi 4.00
B2 3.99
B3 4.06
B4 4.03
BR5 3.99
B 6 3.95
B 7 3.95
B8 3.86
=il 3.97
B0 3.89
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15 B | FHEHiE
=YCi 4.43
B2 4.33
B3 4.42
B4 4. 40
BR5 4.37
Bie6 4.36
B 7 4.41
B8 4.33
=il 4.39
B0 4.37
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15 B | FHEHiE
=YCi 4.51
B2 4.23
B3 4. 21
B4 4.35
BR5 4.24
B 6 4.28
B 7 4.43
B8 4.32
=il 4. 40
B0 4.34
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15 B | FHEHiE
=YCi 4.43
B2 4.36
B3 4.52
B4 4.35
BR5 4.43
Bie6 4.31
B 7 4.39
B8 4. 31
=il 4.35
B0 4. 31
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15 B | FHEHiE
=YCi 4.96
B2 4.92
B3 4.96
B4 5.00
BR5 4.92
B 6 4.96
B 7 4.88
B8 5.00
=il 4.92
B0 4.92
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(EXVATLIZEN) [(FH25E]

15 B | FHEHiE
=YCi 4.59
B2 4.65
B3 4.1
B4 4.65
BR5 4.53
Bie6 4.47
B 7 4.35
B8 4.12
=il 4.4
B0 4.4




